
Open Tournament Tula 2023-05 (Russia, Tula 26.05.2023) - Final Individual Results

Rank Name Cat. Rating # Title

Round  1 - 80' Round  2 - 80' Total -
160

#2 #2 #3 #4 + =
⏱

#2 #3 #4 + H#2 S#2
⏱

Points
⏱

1. 2. 3. 4. 5. 6. 7. 8. 9. 10. 11. 12. 60

1 Darya Efimova   jw  1698.13 516 - 0 5 5 0 1 0 80 5 5 0 3 5 5 80 34 160

2 Aleksey Kainov 1714.98 492 - 5 5 5 - 1 0 80 5 0 0 1 0 5 80 27 160

3 Yulia Ishonina   jw  1196.81 h - - 0 5 3.5 0 1 0 80 5 0 1.25 2 0 0 80 17.75 160

4 Stepan Zakharov   j  1584.47 840 - 0 5 - - 1 0 80 5 0 1.25 1 - 2.5 80 15.75 160

5 Nikita Chepurnov   j  1558.77 864 - 0 5 - - 1 - 80 5 0 1.25 - - 2.5 80 14.75 160

6 Polina Vishneva   jw  1557.51 865 - 0 5 0 0 1 0 80 5 0 0 3 0 0 71 14 151

7 Ilian Sczhegolevatyh   j  1399.74 h - - 0 5 - - - 0 80 5 1.5 1.25 0 - - 80 12.75 160

8 Alexander Shchepotyev 1600.00 657 - 5 5 0 - - - 54 - - - - - - 80 10 134

9 Ivan Molchanov 1605.54 640 - 5 5 0 0 0 - 80 0 - - - - 0 80 10 160

10 Anton Parfenov   j  - - - 0 0 - - 1 - 80 5 - - 2 - - 80 8 160

11 Vera Vishneva   jw  1586.40 827 - 0 0 3.5 - 0 - 80 0 0 - 3 - - 71 6.5 151

12-13 Natalia Bjatenko   w  1586.51 826 - 5 0 0 - 1 - 80 0 0 0 0 - - 80 6 160

12-13 Irina Shidlovskaia   w  1477.19 883 - 0 0 0 - 1 - 80 5 0 0 0 0 0 80 6 160

14-15 Eva Emanuel   jw  1566.83 h - - 0 0 0 0 1 0 80 0 0 0 1 - - 80 2 160

14-15 Natalia Sorokina   w  1481.99 882 - 0 0 - - 1 - 80 - - - 1 - - 80 2 160

16-18 Viktorija Bjatenko   jw  1591.51 808 - 0 0 0 0 0 - 80 0 0 0 1 - - 80 1 160

16-18 Tatiana Sotnikova   j  1600.00 657 - 0 0 0 0 1 0 80 0 0 0 0 0 - 80 1 160

16-18 Vera Vasiljeva   jw  1600.00 657 - 0 0 0 0 1 0 80 - - - - - - 80 1 160

19-21 Roman Machkov   j  - - - 0 0 0 0 0 0 80 0 0 0 0 0 0 80 0 160

19-21 Nikolay Tarelichev   s  1505.42 h - - 0 0 0 0 0 0 80 0 0 0 0 0 0 80 0 160

19-21 Varvara Zaits   jw  1510.06 877 - 0 0 0 0 0 0 80 - - - - - - 80 0 160
Main Judge: Vladimir Afromeev          Assistant: Ilja Biriukov          Problems Selected by: Vladimir Afromeev

Problems' Difficulty (21  Solvers)
ID Tag Difficulty Average 5(Correct Solution) 0 < Pts. < 5 0 (Wrong Solution) - (No Solution)

4 #4 1000 0.00 0 0 11 10

6 = 1000 0.00 0 0 12 9

9 #4 952 0.24 0 4 10 7

11 H#2 952 0.24 1 0 7 13

8 #3 938 0.31 1 1 13 6

5 + 876 0.62 0 13 6 2

12 S#2 858 0.71 2 2 6 11

3 #3 838 0.81 2 2 12 5

10 + 828 0.86 0 10 6 5

1 #2 810 0.95 4 0 17 0

2 #2 572 2.14 9 0 12 0

7 #2 572 2.14 9 0 8 4
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